
To find the area of a parallelogram, multiply the base times the height. 
Let’s try it! Find the area of the parallelogram below.

Name ___________________________________________________    Date _________________________________

Area of Parallelograms

Find the area of each parallelogram. 

Area = ______________ Area = ______________

Area = ______________ Area = ______________

Area = ______________ Area = ______________

Area = ______________ Area = ______________

7 ft.

6 ft.

9 in.

12 in.

11 mm

16 cm

1      mi.

1      yd.
2.3 km

11 mm

8 cm

3 m

1.9 m

    mi.

2      yd. 1.8 km

3___
4

1___
4

2___
3

2___
3

5 ft.

3 ft.

	 A = b × h

	    = 5 × 3 

	    = 15 ft.2

42 ft.2 121 mm2

108 in.2

5.7 m2

128 cm2

mi.2

4.14 km2

15___
16

4___
9

40___
9

4      yd.2

yd.2
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